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1) KiEg:&ET7. 1~8. 5C, KET7. 1~8. 5CofHIchH-7,
2) ¥y #ET33. 79~33. 96, KET33. 78~34. 06DFMAHICHHT,
3) pH: 8. 0~8. 20#PICHY, A TKEHKERE (7. 8~8. 4) Zifi/-L T\,
4) COD: 0. 2~0. 8mg/L OFPHIZH VD, 2 CKREHKKELE (PASMENTE @ 2 mg/L LIT)
il LT,
5) DO: 9. 2~10. 1mg/LO#EFHIZHY, 2R TKREMAKIERE (6. Omg/LLLE) iz L
TU,
6) HERECEE  SHBIILL T O®MMEANICH T,
U UFEREY v (POsP) : 4. 8~23. 9ug/L
TrE=7feEHR (NHsN) 0 0. 9~9. 8pug/L
dfHieiesE% (NO2-N) : 0. 6~3. OnglL
fifiRRE%E R (NOs-N) : 47. 2~102. 2ugL

7) o Ntk 3. 5~18. S5ml/m3OHEHICH T,
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